Rapid Reasoning | Questions Year5 | Week 5 | Day 2

m The same addition is typed into three m A concert is being held with all the money
calculators. made being donated to charity.
The addition is 50,021 + 63,981. 2,305 people buy tickets for the concert.
Two of the calculators are broken and give Each ticket costs £4.
the wrong answer. The organisers also make an extra £1,396
One of them is correct. for charity by selling t-shirts.
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How much money is raised altogether for
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Without working out the exact answer, use
rounding to work out an estimate and find
the correct calculator.

Write your estimation as a number
sentence.

. 2 marks
So, calculator is correct.

1 mark
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m This number line shows three mystery
numbers.

They are all whole numbers.
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Estimate the numbers that are being
shown.

1 mark
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